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#include <bits/stdc++.h>
using namespace std;
typedef long long 11;
#define maxn 1000100
//OO0000ACOO0DO O0KkmpOOOTrieod
//endD 0000000000 OC0O0O0OOOOOOO0OOOODOOOODOOOO
//nxt000000000000000000O000O0000000d
struct Trie
int nxtimaxn][26],faillmaxn],end[maxn],vis[maxn];
int root,size;
int new node
int i=0; i<26; i++) nxt[size]l[i]=-1;
end|size++|=0;
size-1;

void init
size=0;
root=new node( ) ;
memset(vis,0,sizeof (vis));

void insert(char tmp
int len=strlen(tmp),now node=root;
int i=0; i<len; i++
nxt [ now node| tmpli|-'a’'|==- nxt[now node| [tmp[i]-
‘a' l=new _node();
now node=nxt| now node| tmp[i|-'a’'l;

end |/ now node |++;

void build Trie
queue <int> q_trie;
faillroot!=root;
int i=0; 1i<26; i++
'(~nxt[root]| 1 nxt|[root][i|=root;

fail nxt|[root]|[i]|=root;
q trie.push(nxtiroot![1i]);

g trie.empty
int now node=q trie.front();
g trie.pop();
int 1=0; i<26; i++
I'{~nxt[now node] i
nxt |/ now node| i|=nxt/fail/now node!|[i];
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fail[nxt/now node| i |=nxt[fail/now _node
g _trie.push(nxtinow node![i]);

int query(char tmp
int len=strlen(tmp),now node=root,ans=0;
int i=0; i<len; i++
now node=nxt|[now node| tmp(i/-'a']l;
int tmp node=now node;
tmp node!=root&&!vis|[tmp node
ans+=end | tmp node];
end|[tmp node|=0;
vis|[tmp node|=1;
tmp node=fail/tmp node];

ans;
AC;
int n;
char str ;
int main
scanf("%d",&n);
AC.init();
int i=0; i<n; i++

scanf("%s",str);
AC.insert(str);

AC.build Trie();
scanf("%s",str);
printf("%sd",AC.query(str));

’

0000000000000 000 $a$000000 $fails 00 00000000000DO0O0O00O0O0O
00000000000 $falsj00000000 $fails 0000000000 00ODOOOO0O0OO

$dp$ 0000000

#include <bits/stdc++.h>
using namespace std;
typedef long long 11;
#define maxn 1001000

int mp/maxn]|;

int es,first[maxn];
struct Edge

int to,next;
edge maxn|;
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void add(int fr,int to
edge/++es|.to = to;

edgeles|.next = first|[fr/;
first[fr| = es;
struct Trie
int
root,size,maxv,nxt/[maxn ,fail maxn],vis|maxn|,pos/ maxn|,L maxn]|,last|[ma

xn!,num/ maxn|,ipos maxn];
int new node

int i=0; i<27; i++) nxt[size]l[i]=-1;
size++;
//end[size++]=0;
size-1;
void init
int i=0; i<=size; i++
vis[i]=0,pos[i]=0;//end[1i]=0;
maxv=0;
size=0;

root=new node/( ) ;

void insert2(char tmp[],int nu
int len=strlen(tmp),now node=root;
int i=0; i<len; i++
nxt|[now node| tmpli/-'a'|==- nxt|[now node| tmp/i]-
=new_node( ) ;
now_node=nxt|[now node| tmp/i|-'a’

a

'pos/now node

pos /| now node|=nu;
mp/nul=nu;
ipos/nul=now node;

mp/nu/=mp|pos/now node] |;
ipos|nu/=now _node;

Linul=1len;

void build Trie
queue <int> q_trie;
faillroot|=root;
int i=0; i<27; i++
I (~nxt[root][i nxt[root][i]=root;

fail/nxt|[root![i]|=root;
q trie.push(nxtiroot![i]);
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g trie.empty
int now node=q trie.front();
g trie.pop();
int 1=0; i<27; i++
I'{~nxt[now node] i
nxt now node| i|=nxt/failinow node!|[i];

fail[nxt[now node| i |=nxt|fail/now node
g trie.push(nxtinow node|[i]);

int query2(char tmp|!,int len

int ansss=0;
int now node=root;
int i=1; i<=len; i++

now_node=nxt |/ now node| [ tmp[i|-'a’'l;
int tmp_node=now node;
tmp node>
pos|[tmp node
num|pos|tmp node] |++;

tmp _node=fail | tmp node];

aNnsss;

void query3(char tmp[],int len
int now node=root;
int i=1;i<=len;i++
now node=nxt/now node![tmp[i]-
num|/now node|++;

a |,

void build
int i=1;i<=size;i++
add(faillil,i);

void dfs(int now
//printf("sd\n", now);
int i=first[now|;~i;i=edge/i].next
int to=edgel(i].to;
dfs(to);
num|/now | +=num|to];

AC;
char strimaxn];
char strl[maxn!;
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int main

memset(first,-1,sizeof(first));

int t;

scanf("%sd",&t);

AC.init();
int i=1;i<=t;i++
scanf("%s",str);
AC.insert2(str,1i);

scanf("%s",strl+l);

int lenl=strlen(strl+l);

AC.build Trie();

AC.query3(strl,lenl);

AC.build();

AC.dfs o
int i=1;i<=t;i++
printf("%sd\n",AC.num[AC.ipos|mp|[i ;

oo

1.https://www.luogu.com.cn/problem/P3041
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#include <bits/stdc++.h>
using namespace std;
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typedef long long 11;
#define maxn 20200
int mp/maxn];
struct Trie

int

root,size,maxv,nxt [ maxn ,failimaxn],vis|maxn|,pos/ maxn]|,L[maxn],last|max

nl,num/maxn|,ipos/maxn|,val[maxn],cnt/maxn];
int new node

int i=0; i<3; i++) nxtisizel[il=-1;
size++;
//end[size++]=0;
size-1;
void init

int i=0; i<=size; 1i++

vis[i]=0,pos[i]=0;//end[i]=0;
maxv=0;
size=0;

root=new node( ) ;

void insert2(char tmp[],int nu
int len=strlen(tmp),now node=root;
int i=0; i<len; i++
nxt/ now node| tmp[i|-'A"|==- nxt|[now node
‘A' l=new nodel();
now node=nxt|[now node| tmp[i|-"'A"'];
I'pos|[now node
pos | now_node!=nu;
mp/nul=nu;
ipos|nu/=now _node;

mp/nu/=mp|pos/now node
ipos|nul=now node;

’

Linul=len;
cnt[now node|++;

void build Trie
queue <int> q_trie;
fail|root|=root;
int i=0; i<3; i++
I(~nxt[root] i nxt|[root]||[il=root;

faillnxt/root|[i]|=root;
q_trie.push(nxt/root!||1i

.
’

g trie.empty
int now node=q trie.front

’

tmpli]-
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g trie.pop();
int 1=0; i<3; i++
I'{~nxt/now node! |1
nxt/ now node![i|=nxt|[faillnow node| | [i];

fail[nxtnow node| i |=nxt[faillnow node||[i];
g_trie.push(nxtinow node![il);

valnow nodel=val|faillnow node! | +cnt[now node];

AC;
char strimaxn];
char strl[maxn];

int dp ,ans,n;
int main
int t;
scanf("%d %d",&t,&n);
AC.init();

int i=1; i<=t; i++
scanf("%s",str);
AC.insert2(str,1i);

AC.build Trie();
memset (dp,0xaf,sizeof(dp));
dp =0;
int i=1;i<=n;i++
int j=0;j<AC.size;j++
int k=0;k<3;k++
dpli/[AC.nxt[jl[k!] =
max(dp[i|[AC.nxt[j| k] ],dpli- jI+AC.val/AC.nxt[j] [k ;

int i=0;i<AC.size;i++
dpin][il>=ans) ans=dpin]|[i];

printf("%sd\n",ans);

’

2.https://www.luogu.com.cn/problem/P3121

gooo
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#include <bits/stdc++.h>
using namespace std;
typedef long long 11;
#define maxn 202000
int mp/maxn];
struct Trie
int
root,size,maxv,nxt [ maxn ,fail maxn],vis|maxn|,pos/maxn],L maxn]|,last|[ma

xn|,num/maxn|,ipos /maxn],valimaxn|,cnt[maxn];
int new node

int i=0; i<26; i++) nxtl[sizel[il=-1;
size++;
//end[size++]=0;
size-1;
void init
int i=0; i<=size; 1i++
vis[i]=0,pos[i]=0;//end[i]=0;
maxv=0;
size=0;

root=new node( ) ;
void insert2(char tmp[],int nu
int len=strlen(tmp),now node=root;
int i=0; i<len; i++
nxt/ now node| tmpli|-‘a’|==- nxt[now node| [ tmp[i]-
‘a' l=new_node();
now node=nxt|[now node| tmp(i/-'a']l;
I'pos|[now node
pos/ now _node!=nu;
mp/nul=nu;
iposi/nu/=now node;

mp/nu/=mp|pos/now node
ipos|nu/=now node;

LI now node|=1len;
cnt|now node|++;

void build Trie
queue <int> q_trie;
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faillroot|=root;
int i=0; i<26; i++
I (~nxt[root] |1 nxt|/root][il=root;

faillnxt/root| /il |=root;
g trie.push(nxtiroot![i]);

g trie.empty
int now node=q trie.front();
g trie.pop();
int i=0; i<26; i++
I'{~nxt/now node![i
nxt/now node| i|=nxt/fail/now node!|[i];

fail/nxt[now node|[i!/=nxt|faillnow node] ]| i];
g _trie.push(nxtinow node![i]);

val now node/=val|fail|lnow node| +cnt|[now node];

AC;
char strimaxn];
char strl[maxn];
int n,pos/maxn];
stack<int> sta;
vector<int> vv;
int main
int t;
scanf("%s",&str);
int len=strlen(str);
AC.init();
scanf("%d",&n) ;
int i=1;i<=n;i++
scanf("%s",strl);
AC.insert2(strl,i);

AC.build Trie();
int now_node=AC.root;
int i=0;i<len;i++
now node=AC.nxt now node||[striil/-'a'/;
pos|i|=now node;
sta.push(i);
AC.L[now node
int j=0;j<AC.L[now node];j++
sta.pop();

Ista.empty now node=pos|sta.top ;
now node=AC.root;
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//printf("%sd %d\n",i,sta.size());

Ista.empty
vv.push back(sta.top g
sta.pop();

int i=vv.size()-1;i>=0;i--
printf("%sc",strvv|i ;

0;
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